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U185 F300mH(91.4cm_35.0m) 18|#% & BRI =3 o 38.83
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U1sEBFHEEBL 6|=H RE EHE =3 FE 4.80
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U188 FEMRERL 1|RE piE BH =3 N 7.59
U185 FEMRERL S FIAHS =2 EH 7.47
U185 FEMRERL 3|TR RN ale] =2 R 7.44
U185 FEMRERL AlhE B JeimER =3 dtimE 7.41
U185 FEMRERL 5|dhih #EF HAZEI =2 BE 7.40
U185 FEMRERL 6|12 FTBE RHBAAF =2 FE 7.38
U185 FEMRERL TeZE Eeheldt] =2 KBR 7.31
U185 FEMRERL 8|mEN BAE ES =2 ik 7.27
U185 FEMRERL 9|m:2 Bt EHAE =3 L 7.24
U185 FEMRERL 10|REEH =X NEF =2 E 7.17
U185 FEMRERL 11|iA R EBRZ =3 ) 7.16
U188 FEMRERL 11|pIl &L RBAAF =1 Gl 7.16
U185 FEMRERL 11|#A st HAZEI =2 BE 7.16
U185 FEMRERL 14|ARFS  thE #0718 =2 N 7.15
U185 FEMRERL 15| k4 &R A =2 REAR 7.14
U185 FEMRERL 16|HE % JbimER =2 dtimE 7.12
U185 FEMRERL 1713k &4 ETAAE =3 A 7.11
U185 FEMRERL 17|=#% BKE} 25T =1 =1 7.11
U185 FEMRERL 19|1ERT KR RIEKRRE =2 KBR 7.09
U188 FEMRERL 20|#%¥F dE—B JRILFTH =3 E 7.07
U185 FEMRERL 21 (AW RE HFEE =2 KA 7.06
U185 FEMRERL 21|BME ERER ENIES =2 i} 7.06
U185 FEMRERL 23|48 A HUEeg =1 =B 7.05
U185 FEMRERL 24|18 EE JekE =2 [ 7.04
U185 FEMRERL 24|1E A AR =2 E 7.04
U185 FEMRERL 26|HFE B EHNT =1 Gl 7.02
U185 FEMRERL 27|/Ndt = HAZEI =2 25 7.00
U185 FEMRERL 28|f1H =3& me =3 @A 6.99
U185 FEMRERL 29| BE LEE =2 N 6.98
U185 FrENRRE 29|K#  BEIE A7 &1 &) 6.98
U185 FEMRRL 31|EH BN R =2 TE 6.96
U185 FEMRRL 32|k E—IR BE =2 GESI 6.92
U185 FEMRRL 32|=# WX ElAaEE S =2 LisE 6.92
U185 FEMRRL 32|11k R DL EFHE =2 KK 6.92
U185 FrEmRRE 35|EE M= 2R =2 Al 6.91
U185 FEMRRL 35|KF K& F AR =2 LA 6.91
U185 FEMRRL 3B|EH EE 28 =l =) 6.91
U185 FEMRRL 38[)INA  MEAKER B =3 KBR 6.90
U185 FEMRRL 38|H BEE Bl =2 =% 6.90




g16[EU18,/#E53EIUI6ELFHIEART Y FU—Y X}

&R RANK K4 B X5 | MBEFR | EETE HE
U188 F=EkBk l|&H 2% e =3 AR 15.33
U188 F=EkBk 2|hE st etk =2 R 15.11
U188 F=EkBk 3|BEA FRfR it =2 £ 15.02
U185 F=Ekik AT EE Zll =2 R 15.00
U188 F=EkBk 5|=ig EhR =2 S 14.87
U188 F=EkBk 6|KH IR BIREE =3 B 14.84
U188 F=EkBk TER =X &R =3 Eine) 14.71
U188 F=EkBk TR KM RBEAT =3 A& 14.71
U188 F=EkBk 9|l BA RHEANE =2 KBR 14.63
U188 F=EkBk 10[kF R 58 =3 e 14.57
U185 F=Ekik 11|(BE B+ e =2 NC} 14.52
U188 F=EkBk 12|E4 K5 & =2 R 14.41
U185 F=Ekik 13|l #A 2R =2 = 14.40
U188 F=EkBk 14|BTF #HH BTG =2 S 14.36
U188 F=EkBk 14| EAR 2RiE Ba =1 BHE 14.36
U188 F=EkBk 16|%ln 2HE E=pN =3 KBR 14.35
U188 F=EkBk 17\1lbF %3k gz ] =2 R 14.34
U188 F=EkBk 18| RAI BIK T =2 il 14.28
U188 F=EkBk 190811 A & =2 R 14.27
U185 F=Ekik 20T HE 3 =2 =S 14.26
U188 F=EkBk 211%E LA Eld =1 =5 14.24
U188 F=EkBk 22|18 i aE FHSE =2 % 14.22
U188 F=EkBk 23|EME LA =3 FFL 14.21
U188 F=EkBk 24| RAH KA =2 KBR 14.19
U188 F=EkBk 25|k 1&H) EBRZ =2 ) 14.15
U188 F=EkBk 26|EA B PN} =2 Gl 14.14
U188 F=EkBk 27|A St ik =3 Eal 14.13
U188 F=EkBk 28|54 ER BhBTRZE =2 HH 14.10
U188 F=EkBk 29|H L ME EREILS =2 N 14.07
U188 F=EkBk 30| sk p2ield =2 Gl 14.06




g16[EU18,/#E53EIUI6ELFHIEART Y FU—Y X}

BB RANK K4 FiiE X5 | #WEFR | EIGHDEK fBE
U185 FhaAL#%(6.00kg) I ES = ML T =2 L 15.95
U183 FFa1#%(6.00kg) 2|BE BE BET =3 BF 15.88
U185 FhaAL#%(6.00kg) 3| KB AN KAEKRAE =3 KBR 15.73
U18% FhaAL#%(6.00kg) 41FRN B wE =2 =R 15.62
U185 FraAL#%(6.00kg) 5|EA) #A JIIAIL =3 5 15.59
U185 FraAL#%(6.00kg) 6|V UF av* FHRFE =2 -F 15.49
U185 FraAL#%(6.00kg) 7|ER EBA HILE =3 JtimE 15.39
U183 FFa#5(6.00kg) 8| IAED ZHEARS =2 FH 15.15
U185 FraAL#%(6.00kg) 9|EE KE S =1 3 15.10
U185 FraAL#%(6.00kg) 10|mmEE —FB9 tE =3 R 14.81
U185 FraAL#%(6.00kg) 11|78 sk it 52 o 14.79
U18% FhaAL#%(6.00kg) 12|FER KO AERRE =2 KBR 14.75
U185 FraAL#%(6.00kg) 13|AH &% mEE 52 /N 14.68
U185 FhaAL#%(6.00kg) 14(FH £ Kty RAMERE =2 K5 14.65
U185 FhaAL#%(6.00kg) 15|/pk EHA i =3 & 14.59
U185 FraAL#%(6.00kg) 16| &A1 & =5T =3 =yl 14.53
U185 FhaAL#%(6.00kg) 17(ma K& UG AL 3 =2 1L 14.46
U185 FhaAL#%(6.00kg) 18| KA EX RIFEAKF =3 RIG 14.39
U185 FhaAL#%(6.00kg) 19[KE &K BIISER =2 pie= 14.38
U185 FhaAL#%(6.00kg) 20| R BIGE— =2 = 14.34
U185 FraAL#%(6.00kg) 20|H BXR HiE 52 A 14.34
U185 FraAL#%(6.00kg) 22|Al KB BME 52 i, 14.28
U185 FHaAL#%(6.00kg) 22|iEA %5 52 5 14.28
U185 FraAL#%(6.00kg) 24|RIF R =47 52 A 14.02
U185 FraAL#%(6.00kg) 25| R & EEIIESPN G 52 i, 14.01




g16[EU18,/#E53EIUI6ELFHIEART Y FU—Y X}

BB RANK K4 FiiE X5 | #WEFR | EIGHDEK fBE
U183 FM#&#(1.75kg) 1|BE BE PEA =3 packic 46.42
U185 FM#&#%(1.75kg) 2|kl BEX PEVZ 33 =2 L= 45.27
U185 FM#&4%(1.75kg) 3|E LI B =2 I & 45.01
U185 F 45 (1.75kg) 41FEXK  KHE RERERT =2 & 44.69
U185 FM#&#%(1.75kg) 5|zzx (= SEAERE =3 fi ) 44.68
U183 FM#&#(1.75kg) 6|KT &= BET =3 BF 44.17
U183 FM#&#(1.75kg) TR BE i 52 =& 43.90
U183 FM#&#(1.75kg) 8HRA BT ZHER =2 FH 43.64
U185 F M5 (1.75kg) 9|#PE  RLIT TEERA =3 (53 43.22
U185 FM#&#%(1.75kg) 10(8%F A LER =2 1LEd 42.89
U185 FM#&#%(1.75kg) 11{#x  &ikh 1EfAER =3 Ko 42.86
U183 FM#&#(1.75kg) 1204 B SihmAE 52 FiE 42.75
U185 FM#&4%(1.75kg) 13|58 &A RIFEAKF =2 RIG 42.64
U185 FM#&4%(1.75kg) 14 A% 3} ENVBER =2 o 5E ] 42.05
U183 FM&#(1.75kg) 15|1F L Bk HE =2 it 41.82
U185 FM#&#%(1.75kg) 16[/vbL B&E Hixdb =3 B 41.79
U185 FM#&#%(1.75kg) 17\# L TE FEEE =2 HA 41.44
U185 FM#&#%(1.75kg) 18| LA EE BSERE =2 Eiinz] 41.41
U185 FM#&4%(1.75kg) 19|44 B 58 =1 RS 41.25
U185 FM#4#%(1.75kg) 20|&E =% =ik 52 /N 41.09
U183 FM&#(1.75kg) 21|#nbL B2 st i =3 &I 40.83
U185 7M1 (1.75kg) 22|Msh B—4 HWEE— 52 o 40.20
U185 7M1 (1.75kg) 23|41l WIE N =3 5 40.00
U185 FM##% (1.75kg) B Bt BRI =3 K 44.02 | @ HEE R L




g16[EU18,/#E53EIUI6ELFHIEART Y FU—Y X}

BB RANK K4 FiiE X5 | #WEFR | EIGHDEK fBE
U185 F /> v —1%(6.000kg) 1|B&E KB &R =2 Nz 59.98
U185 F /> = —1%(6.000kg) 2[EA EA NEFSAL T =2 15/ 56.35
U185 F /> v —1%(6.000kg) 3| EEE Edio0] =2 b 55.77
U185 F/ > v —1%(6.000kg) A\A AR MSIT =2 BiR 54.23
U185 F/ > v —1%(6.000kg) S5[EA JE ZEERA =2 FH 54.16
U185 F /> = —1%(6.000kg) 6|BE K% EE =2 RER 53.44
U185 F/ > v —1%(6.000kg) 7[E =X B =2 FE 53.41
U185 F /> v —1%(6.000kg) TN BREE =17 =2 FH 53.13
U185 F /> = —1%(6.000kg) 9|mNI FE s =3 = 52.76
U185 F/ > v —1%(6.000kg) 10|HR 78K FEIR =2 FH 52.69
U188 F/ >~ —#(6.000kg) 11{tkzE WE KEm =2 HE 52.27
U18EF/ > < —#%(6.000kg) 2[R —tb TR4EE— 52 BE 52.01
U18EF/ > < —#%(6.000kg) 13(#m  Fiz RiET =3 Ri% 51.92
U188 F/ >~ —#(6.000kg) 14(1lLE BAKEB REERE =2 FE 51.82
U185 F/ > v —1%(6.000kg) 4T kR = =2 Nz 51.75
U18EF/ > < —#%(6.000kg) 16| #BX R 52 =R 51.17
U185 F/ > v —1%(6.000kg) 17|18 #X it =2 PN 51.16
U18EF/ > < —#%(6.000kg) 18| IrEE JNEREAL T 52 FESN| 51.02
U185 F /> v —1%(6.000kg) 19|@ & Pl =2 I 50.71
U185 F/ > v —1%(6.000kg) 20(HA A it =2 FE 50.69
U18EF/ > < —#4(6.000kg) 21| Bz R 52 =R 50.63
U185 F/ > v —1%(6.000kg) 22|EH B KEKIRE =2 PN 50.59
U185 F /> v —1%(6.000kg) 23|RE ¥k AEKRIRE =2 PN 50.58
U18E F/ > < —#%(6.000kg) 24%M  EEiE SRS 52 B30 50.57
U18EF/ > < —4%(6.000kg) 28| KB HLYU— I T 52 AF L 50.57
U185 F/ > v —1%(6.000kg) 26|BAR EH¥ HFHEE =3 B 50.12
U185 ¥/ > = —1%(6.000kg) 27|HR & HEE =2 SE 50.09
U18EF/ > < —#%(6.000kg) 28|AE EE 1T 52 o 50.05




2£16[EU18 /53R UL6EE EF kST FY—U X b
BB RANK K4 FiiE X5 | #WEFR | EIGHDEK fBE
U185 F > ) #%(800g 1986~) 1tE k& RIFAAAE 52 Ri% 65.60
U18E ¥+ V) #(800g 1986~) 2|50 K8 ERAEE 52 e 64.20
U18E ¥+ V) #(800g 1986~) 3| LB BR petis] &2 = 63.50
U18E ¥+ V) #(800g 1986~) PN BT =3 Sl 62.94
U18E 7+ V) #(800g 1986~) 58 = b=t 52 e 62.65
U18E ¥+ ¥ #(800g 1986~) 6|EiR & =l =3 =40 62.38
U18E 7+ V) #(800g 1986~) 7|7 EA M =2 R 62.37
U185 F > ) #%(800g 1986~) 8|E%Z KIE ap=) &2 3 61.95
U185 7+ ¥ #(800g 1986~) 9|AF IR SIREALE =2 FIE 61.70
U185 F > ) #%(800g 1986~) 1072 ME BERF 52 BER 61.64
U185 F > ) #%(800g 1986~) 1T & = =3 2 58.80
U18E ¥+ V) #(800g 1986~) 12|8B8 ES BERSmE 52 BER 58.42
U18E ¥+ V) #(800g 1986~) 13|&F %+ R4S~ &2 BE 58.26
U18E ¥+ ¥ #(800g 1986~) 14|FE KB wE 52 =R 57.96
U185 F > ) #%(800g 1986~) 15(2@m = = &2 2 57.87
U18E 7+ V) #(800g 1986~) 16|EHE BA HEF &3 3 57.47
U185 F > ) #%(800g 1986~) 17|R BER = 52 Ei) 57.44
U18E 7+ V) #(800g 1986~) 18[#aA i EEXIG 52 R 57.32
U185 F > ) #(800g 1986~) 19|EH =EE BEME 52 B2E 57.04
U18E ¥+ ¥ #(800g 1986~) 20|RE Kz ERAEE 52 e 57.02
U185 F > ) #%(800g 1986~) 21|t SEE FRLERE 52 = 56.91
U185 F > ) #(800g 1986~) 2|\FE B pieatea] 52 L 56.45
U18E 7+ ¥ #(800g 1986~) 23| M MF ks 52 AF L 56.37
U18FE ¥+ ) #%(800g 1986~) 20| EZF B/ ARAN =3 FH 56.22
U185 7+ ¥ #(800g 1986~) 25(R1 e FEERR =3 R 56.18
U185 F > ) #%(800g 1986~) 26|11BE F AV 52 BiE 56.13
U18E ¥+ V) #(800g 1986~) 27| 2fE BERSmE 52 BER 56.11
U185 F > ) #(800g 1986~) 28| KT Bl BAZ1L 52 3 56.06
U185 F > ) #(800g 1986~) 29|=F & FiZ->I4 &2 BF 56.00
U18E 7> V) #(800g 1986~) 2H R& (51514 &1 R 48.64| @R sHER A L




g16[EU18,/#E53EIUI6ELFHIEART Y FU—Y X}

[EE] RANK K4 B X5 | MBEFR | EETE =
U18%¥100m 1|58 &R SR =2 b 11.71
U18%¥100m 2|/NEt BREE Eir =1 Gl 11.72
U18%¥100m 3|fAE Y =77 —HE o] =2 ES 11.81
U18%¥100m (i EP REAR =2 RE 11.81
U18%¥100m 3|FgE A EINE= =2 £E 11.81
U18%¥100m 6 AR EiE HBAAF =2 Gl 11.82
U18%¥100m e AR =2 =5 11.90
U18%¥100m 8l ZIE3 REE =2 Bl 11.92
U18%7100m 8|HA  BRAE REBIE =2 R 11.92
U18%7100m 10|H#H L #3 RBAMER =2 [ESI 11.96
U18%¥100m 10|fhdE  DE LS =1 £ 11.96
U18%7100m 10|56 & RBAEHE =2 1R 11.96
U18%¥100m 13|20 #x% BEME =2 BE 11.97
U18%¥100m 14| 281 A 018 =3 N 11.99
U18%7100m 14|3HF MAT BRFEEZ =1 HR 11.99
U18%7100m 16|/R4E =@ LA =2 AL 12.00
U18%¥100m 16| KHR W& BRAYE =2 =5 12.00
U18%7100m 18|54 HAfL EE =3 Iz & 12.01
U18%¥100m 19|FE KE BBl =2 =BE 12.02
U18%¥100m 20|k BRE PN =2 KBR 12.05
U18%7100m 21| RAES wlE HEFER =2 ES 12.06
U18%¥100m 21[%H E¥F PN =2 KBR 12.06
U18%¥100m 21|/ FHR REKRE =2 KBR 12.06
U18%¥100m 24 (5011 WRTY PRHEX =1 B8 12.07
U18%¥100m 25|hE Bk FEfE =2 = 12.08
U18%¥100m 25(%AB  RF PRATR =2 A 12.08
U18%¥100m 25(Fl EBZ =2 FESI| 12.08
U18%7100m 28| X7 X JTL—2X b =1 E 12.09
U18%¥100m 28|l BEx FalEE =2 = 12.09
U18%¥100m 30|/l A24T KFREER =1 I 12.10
U18%¥100m 1A o= 25T =2 N 12.11
U18%¥100m 32|EM »HC 215/ =1 A 12.12
U18%F100m 3BER EBEF g A =2 L 12.13
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BB RANK K4 FiiE X5 | #WEFR | EIGHDEK fBE
U184 F300m 1|E mMex SEANT AT 52 4 39.17
U184 F300m 21EE gk Et® =3 4/ 39.18
U182z F300m 3|k E BREE =2 k=15l 39.25
U184 F300m 4= FIBE DERVAI 52 T 39.28
U18%F300m 5| H7 HA=8 52 4 39.47
U184 F300m 6|F# TH BRI 52 4 39.56
U18%F300m TeEAAR ZkE it =3 vEE 39.60
U184 F300m 8lHeR BT ZIgF U R b 52 B354 39.65
U184 F300m 9|FIR  E#E I sFN 52 L 39.66
U18%zF300m 10[%EE *k FEBIE =2 R 39.69
U18%F300m 1{HFO Bx NELZFE =2 & 39.70
U184 F300m 12[(IR *%A#E #3018 52 /N 39.75
U184 F300m 13|&F 1A 611 52 e 39.79
U184 F300m 14|@h £33 R 52 KER 39.82
U18%F300m 15|@H# =1 R 52 R 39.85
U184 F300m 16|52 i hF 52 o 39.88
U18%+#300m 17| KE Hk I & =2 I & 39.90
U18%F#300m 17|7H B 1F =2 K& 39.90
U18%zF300m 19| KM HEHE RAMERE =2 K5 40.00
U18%zF300m 20(hBE R BRFEIR =2 3] 40.02
U18%ZF300m 21|1=% EX A4S &2 | 40.06
U18%F300m 22|R B BT PR F =1 & 40.12
U184 F300m 23|1fA E4F BEEA R =3 A 40.14
U18%F300m 24B8 = B 52 KER 40.25
U18%zF300m 25| MR IEREES =2 K& 40.26
U182z F300m 26|1EM EEF IENIIE]A =2 L 40.27
U18%zF300m 27|18 IRTE BRAYE =2 (=454 40.30
U184 F300m 28|1BA & BAhAEF =3 3 40.35
U18%F300m 29/N\BFHE Xt R 52 R 40.40
U18%F300m 30|%HE X BBARIAER =2 FEIN 40.45
U184 F300m 31|aTE 7 Bl 52 = 40.46
U184 F300m 32| Fm ' BHrhR 52 G, 40.46
U18%F300m 3B|AEN BE M =2 3 40.48
U184 F300m 34|ER ®HF SO PR =1 il 40.51
U184 F300m 35|t T NN 1% 52 FESN| 40.52
U18%F300m 36/ BER BAE =2 3 40.54
U18%F#300m 37|A/AR EE FUNEBR KA =1 & 40.59
U184 F300m 38| AT BB NEF 52 3 40.60
U184 F300m 39|l LBEE 52 /N 40.63
U18%F300m 40|3F@  FETE st i 52 I 40.65
U18%F300m 41|EH Ez Eelt =2 T 40.71
U18%F300m 42|90% K% Hir— =2 RIK 40.71
U18%F300m 43| BE RRAHFR =2 A 40.78
U18%F300m MM\EH EH R =2 EESN 40.91
U18%F300m 45|/ 3= & =2 o 40.93
U18%F300m 46|HD BE BIE =2 & 40.95
U18%F300m 47|8E =3 B =3 o 41.00
U184 F300m 48|1FE BR 2:qrale] =3 =F 41.01
U18%F300m 49|EO LEEE =2 LE 41.14
U18%F300m KE BT Fx =2 (53 40.24| QKB L




5816[EU18,/5E53EIU16RE LR Y —-Y R b

[EE] RANK K4 B X% | #MEAR | BERH =
U18%7800m 1|l BE EER =2 HE 2:08.39
U18%7800m 2|%  FA ZRRH =2 A 2:08.40
U18%7800m 3|ME  EFR R =2 R 2:08.53
U18%7800m 4l B REARAHE =2 KBR 2:08.55
U18%¥800m 578 EB5 PRATR =2 A 2:08.69
U18%7800m 6|RE K BT =2 AR 2:09.32
U18%7800m TBR #HH KK =3 KR 2:09.41
U18%7800m 8|l EK KPR =3 KBR 2:09.69
U18%7800m I[IEN R EXS =1 Rii 2:10.59
U18%7800m 10048 &% RAERAT =3 A 2:11.24
U18%7800m 11|41k fafa G =2 L 2:11.80
U18%¥800m 12|58 Zit thih% =1 S 2:12.00
U18%¥800m 13|AE w1t BEARAHE =2 KBR 2:12.19
U18%¥800m 14|08 % BEREA =2 FE 2:12.42
U18%7800m 15EM Bex tER =2 aF 2:12.63
U18%¥800m 16|4H & [INiZsES =1 T} 2:13.44
U18%7800m 17|18 B EARE =3 =35 2:13.49
U18%¥800m 18FH WAl ) =1 R 2:13.74
U18%7800m 19| A I AKARE =2 1R 2:13.82
U18%7800m 20|87 TofE E M =2 £ 2:13.97




5816[EU18,/5E53EIU16RE LR Y —-Y R b

[EE] RANK K4 B X% | #MEAR | BERH =
U18%F1500m 1|%F L = RARAHE =2 KBR 4:23.61
U18%F1500m 2(8)11 #k5 KR =2 KBR 4:27.79
U18%F1500m 3B EK REARAHE &1 KBR 4:27.95
U18%F1500m AlBH %o Ll =2 S 4:28.15
U18%F1500m 5| ®E [Ellepntic] =1 A 4:28.53
U18% F1500m 6| =T LSBT KRS =1 N 4:28.60
U18%F1500m T(A RZE b2 =2 = 4:28.69
U18%71500m 8|fl L ZF LA =1 A 4:29.16
U18%F1500m 9|iERy AP 8% =2 A 4:29.58
U18%F1500m 10|k 2 AT =2 £ 4:29.72
U18%F1500m 11|E 6% FHEH =1 % 4:31.54
U18%71500m 12|17k e T3 324 =3 [ESI 4:32.30
U18%F1500m 13|#05E  ERE [Ellepntic] =1 A 4:32.47
U18% F1500m 14=8 E4P e =S =2 s 4:33.05
U18%71500m 15|1480 F0h FRMNE =3 Iz & 4:33.48
U18%F1500m 16|12 &< ZRRA =3 A 4:33.91




g16[EU18,/#E53EIUI6ELFHIEART Y FU—Y X}

BB RANK K4 FiiE X5 | #WEFR | EIGHDEK fBE
U18% F100mYH(76.2cm_8.5m) 1|4 =% PRAHRR 52 A 13.64
U18% F100mYH(76.2cm_8.5m) 21E@H BE & 52 AL 13.70
U18% F100mYH(76.2cm_8.5m) 3| b FiE gl 52 =B 13.87
U18% F100mYH(76.2cm_8.5m) 4lFEF FOE EMT L =1 #E 13.88
U18% F100mYH(76.2cm_8.5m) Ui B =1 KER 13.96
U18% F100mYH(76.2cm_8.5m) 518) =1 BERemE 52 BER 13.96
U18% F100mYH(76.2cm_8.5m) T|%E X $hiE =1 =5 13.97
U18% F100mYH(76.2cm_8.5m) 8| AN sk LR Z DT 52 KER 14.03
U18% F100mYH(76.2cm_8.5m) 9| Rl BF pryic: g 52 EESN 14.06
U18% F100mYH(76.2cm_8.5m) 9| TvE R 52 R 14.06
U18% F100mYH(76.2cm_8.5m) 1R AhZE Btz &1 4 14.08
U18% F100mYH(76.2cm_8.5m) 11{#&L SR HBFE =1 BE 14.08
U18% F100mYH(76.2cm_8.5m) 13|RE W ]34 52 A 14.12
U18% F100mYH(76.2cm_8.5m) 14|#%8 UA® Eiibual 52 /N 14.14
U18% F100mYH(76.2cm_8.5m) 14N DB 2 52 all 14.14
U18% F100mYH(76.2cm_8.5m) 16|55k 24 5% =1 5 14.15
U18% F100mYH(76.2cm_8.5m) 17 A8 k3% BHrhR =1 G, 14.19
U18% F100mYH(76.2cm_8.5m) 184~ EFE R 52 R 14.20
U18% F100mYH(76.2cm_8.5m) 19|E# KK HEFE =2 k5 14.21
U18% F100mYH(76.2cm_8.5m) 19|A 23 RIgBAKRE =1 Ri% 14.21
U18% F100mYH(76.2cm_8.5m) 21|hE wE JekES R 52 all 14.26
U18% F100mYH(76.2cm_8.5m) 2|RE BE BHR =1 3 14.27
U18% F100mYH(76.2cm_8.5m) 23|18 EE HE 52 EiE 14.29
U18% F100mYH(76.2cm_8.5m) 0|FER SF hF 52 o 14.35
U18% F100mYH(76.2cm_8.5m) 25| R BE ZIgF U R b 52 B354 14.37
U18% F100mYH(76.2cm_8.5m) 26|E2F Ef IS 52 FrE 14.38
U18% F100mYH(76.2cm_8.5m) 27\%@ FET L =2 R L 14.40
U18% F100mYH(76.2cm_8.5m) 28|BA BT I\ =1 2 14.49
U18% F100mYH(76.2cm_8.5m) 29|Aath K2 ROMEHA =1 R 13.73|100mH
U18% F100mYH(76.2cm_8.5m) 30|E1E Tk i e =3 L 13.85/100mH
U18% F100mYH(76.2cm_8.5m) 31|#KE WK ks =3 R 14.05/100mH
U18% F100mYH(76.2cm_8.5m) 32|kl A EARE 52 RE 14.26/100mH
U18%F100mYH(76.2cm_8.5m) 33| BIE EBHHFE =2 il 14.27(100mH
U18% F100mYH(76.2cm_8.5m) 4| %E BR ROEEE =1 R 14.47|100mH
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&R RANK K4 B X5 | MBEFR | EETE HE
U18%F300mH(76.2cm_35.0m) l|7=H &% #HAER =3 Iz & 43.34
U184 F300mH(76.2cm_35.0m) 2|8t D AR =3 Iz & 43.36
U18%¥300mH(76.2cm_35.0m) 3[R BEE ) =3 il]=i 43.85
U18%¥300mH(76.2cm_35.0m) AR 03 PRATR =2 A 43.87
U18% ¥300mH(76.2cm_35.0m) 5(pIHE EH Eeheldt] =2 KBR 43.94
U18%¥300mH(76.2cm_35.0m) 6|ty ZHE ol =2 A 43.95
U18%¥300mH(76.2cm_35.0m) LN ES NEF &1 BHR 43.96
U18%¥300mH(76.2cm_35.0m) 8RNI EBZE E=51 =2 #E 43.99
U18%¥300mH(76.2cm_35.0m) 9[ihA  {=EHR £ =2 BHR 44.21
U18%¥300mH(76.2cm_35.0m) 10|#/R%E MF il peseata =2 R 44.39
U18% ¥300mH(76.2cm_35.0m) 11|1E8 & WhEXRF =2 =BE 44.47
U18%¥300mH(76.2cm_35.0m) 11|EK IS =2 FE 44.47
U18%¥300mH(76.2cm_35.0m) 11|®HE BE EE =2 EIE 44.47
U18%¥300mH(76.2cm_35.0m) 14|=E At K5y =3 R 44.67
U18%¥300mH(76.2cm_35.0m) 15|1E8 BB +HET =2 Eiipo] 44.68
U18%¥300mH(76.2cm_35.0m) 15|1&f e EwINE= =2 £ 44.68
U18%¥300mH(76.2cm_35.0m) 17|50 4% RO A =2 R 44.71
U18%¥300mH(76.2cm_35.0m) 18| K it =2 L 44.80
U18%¥300mH(76.2cm_35.0m) 19|1E8 EN e T3 324 =2 [ESN 44.94
U18%¥300mH(76.2cm_35.0m) 20(E1L BBE HRAE =2 SES 44.97
U18%¥300mH(76.2cm_35.0m) 20| F% s = =2 =4 44.97
U18%¥300mH(76.2cm_35.0m) 22|mE B2 2l =2 21l 44.98
U18%¥300mH(76.2cm_35.0m) 23|1FHLE m4TE PN =2 KB 45.36
U18%¥300mH(76.2cm_35.0m) 24|18 =X Fele =2 R 45.44
U18%¥300mH(76.2cm_35.0m) 258 BRI E b =1 SES 45.49
U18%¥300mH(76.2cm_35.0m) 26|7f  EK KEE =2 HE 45.53
U18%¥300mH(76.2cm_35.0m) 27(AL ¥R AL =2 e 45.55
U18%¥300mH(76.2cm_35.0m) 28|#HLE HE Rl BAKRT =1 Rk 45.57
U18%¥300mH(76.2cm_35.0m) 29(7kE FroL BER =2 Gl 45.59
U18%¥300mH(76.2cm_35.0m) 0[AR RE AR =2 fE 45.90
U18%¥300mH(76.2cm_35.0m) 31|12H EHK [E5]ss) =2 FE 4591
U18%¥300mH(76.2cm_35.0m) 321FM AHTE PRPEL T =3 s 45.94
U187 F300mH(76.2cm_35.0m) H)l FHF B =3 a=F 45.99(F v >t
U18%¥300mH(76.2cm_35.0m) 33|=%F WX BRER =2 R 46.02
U18% ¥300mH(76.2cm_35.0m) 4[FR 5 RO =3 HH 46.22
U18%¥300mH(76.2cm_35.0m) 35|7EE R NEZE =2 T} 46.27
U18%¥300mH(76.2cm_35.0m) 36|HLE NLhH el =1 R 46.31
U18%¥300mH(76.2cm_35.0m) 37(1ibE R +HET =1 Eiipo] 46.42
U18%F300mH(76.2cm_35.0m) 38| LH F4%E BEREA =2 FE 46.60
U18%¥300mH(76.2cm_35.0m) 9|HEH HEE Rl EAKRT =2 Rk 46.63
U18%¥300mH(76.2cm_35.0m) 40|tk /INIE CEE=pld =3 FEE 46.64(# Y £IF
U18%F300mH(76.2cm_35.0m) 41| =l ZEME RiBAKRT =l Rl 46.76
U18%F300mH(76.2cm_35.0m) 42|3% i 2o =2 a=F 46.98
U187 F300mH(76.2cm_35.0m) 438\ O B B =2 'S 47.12
U18%F300mH(76.2cm_35.0m) MFF EE BER =2 BE 47.25
U18%F300mH(76.2cm_35.0m) 451 =Y iE BET =2 FE 47.46
U187 F300mH(76.2cm_35.0m) 46|FA ALE KR ZDTE =l KBR 1.00.25(400mH
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&R RANK K4 B X5 | MBEFR | EETE HE
U18%¥3000mW I PNIT- EERE %X =2 R 22:10.30
U18%¥3000mW 2IAR TN 2EFE, =2 BE 23:58.39
U18%F3000mW 348 #BF BIEZX =2 S 24:08.97
U18%¥3000mW AlBE Ek AR =2 R 24:13.16
U18%¥3000mW 5[k ERE RARAHE =2 KBR 24:19.29
U18%F3000mW 6(ithdh HIEE B =1 s 24:20.84
U18%F3000mW 1MW R HBEIEKMT =2 HE 24:46.78
U18%¥3000mW 8|EF EX BRAYE =2 =5 24:53.47
U18%F3000mW 9l BEE BERE= =2 aF 25:02.91
U18%F3000mW 10|&&E #< EPER =2 A 25:03.59
U18%¥3000mW 11|8% #¥ RER =3 KBR 25:10.74
U18%¥3000mW 12|18l WEE Fele =2 R 25:13.03
U18%¥3000mW 13| M= Fele =2 R 25:15.05
U18%¥3000mW 14|5HE  F14 REKRWE =2 Bl 25:29.60
U18%¥3000mW 15|A AR EENE =2 L 25:37.45
U18%¥3000mW 16|78 VA BNE =2 aF 25:38.58
U18%F3000mW 17|5E b7 8% =2 A 25:52.13
U18%¥3000mW 18|HE #it R=#H =2 N 25:54.18
U18%¥3000mW 19|FR M= FHIEN =2 S 25.47
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&R RANK K4 B X5 | MBEFR | EETE HE
U18&ZFERBL 1|1& &5 HEFHE =2 ES 1.76
U18ZFE=BL 2|&E EAR BER &1 SE 1.75
U18&ZFERBL 3@k BB BRRCR =3 FE 1.73
U18ZFE@BL 3|mME AfE Eeheldt] &1 KBR 1.73
U18%ZFE=BL 5|/ # #E HHE =2 KBR 1.72
U18&ZFERBL 6|AI7E R AL =2 AL 1.71
U18ZFE@BL 6|80 EIRF TrE =2 3 1.71
U18ZFERBL 8| KE AL R =2 ik 1.70
U18&ZFERBL 9|F1M k= fBIL =3 ES 1.69
U18ZFE=BL 9IFE X HEFE &1 ES 1.69
U18ZFE=BL 9|mH BT L =3 aF 1.69
U18&ZFERBL 12|#iE  fEX L1 =3 AR 1.68
U18ZFE=BL 13|18 &X RBAMER =3 ) 1.67
U18&ZFERBL 13| & ZPFE =3 A 1.67
UlsZ FEmDE 15|E HoF M E) |7 =2 &) 1.66
U18%ZFE=BL 15|51l ¥4 EINEZ =2 FE 1.66
U18ZFE@BL 15| KH @HE PRAFR =2 A 1.66
U18ZFE=BL 15|fkE 5 LR =2 1R 1.66
U18ZFE@BL 19|84 2 SN =2 il 1.65
U18&ZFERBL 19|5H 3P B =1 £ 1.65
U18ZFE=BL 19| #®1t Lol =1 EE 1.65
U18&ZFERBL 19|88 = B =2 R 1.65
U18ZFE@BL 23| Ak BER =2 BE 1.64
U18%ZFERBL 24|HR A eheldt] =2 KBR 1.63
U18ZFE=BL 24/0\FF O KEE =2 HE 1.63
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&R RANK K4 B X5 | MBEFR | EETE HE
UlsZFHEmbk 1|4k %R HEFHE =3 ES 4.00
U1sZFEmbk 215# ¥R Bt =2 S 3.95
U1sZFHEmbk 3 == BIEB R =2 S 3.90
UlsZFHEmbk 3|HME % EARE =2 R% 3.90
UlsZFHEmbk 5|2 HE REH =2 SES 3.80
U1sZFHEmbk 5|&F HRE =Rzt =2 TE 3.80
UlsZFHEmbk 58K B4 E =2 FE 3.80
UlsZFHEmbk 8| Ll RERE R =3 KBR 3.70
UlsZFHEmbk IERBII Ak PN:EEs &1 S 3.60
UlsZFHEmbk 10|mH#F R KK =1 KBR 3.52
UlsZFHEmbk 11|=fE HFRE Ehioe) =2 &I 3.50
UlsZFHEmbk 11|kt HE EHH RS =2 AR 3.50
U1sZFHEmbk 11|BEZR BRET 285 =2 = 3.50
UlsZFEmbk 11| Kk A0 e =3 EiE 3.50
UlsZFHEmbk 15|&R Hhi vzt =2 EiE 3.40
UlsZFHEmbk 15|18 U4k BEF— =2 il 3.40
U1sZ i@k 15KH & FaL A =2 = 3.40
UlsZFHEmbk 15|7a] B ik &1 EaY 3.40
U1sZFHEmbk 19|=EF = BEF— =2 il 3.30
UlsZFHEmbk 19|EH B Bl =1 A 3.30
Uls%k FiEm Bk 19(FE) %A AR =2 RER 3.30
U1sZFHEmbk 19|8AK TR LW =2 Gl 3.30
Uls%k FiEm Bk 19158 ME AE =2 5k 3.30
UlsZFHEmbk 19|3kE & =S =2 R 3.30
Uls%k FiEm Bk 19|%3% Ohfk e =2 5k 3.30
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&R RANK K4 B X5 | MBEFR | EETE HE
U18%& FEMRRL 1pagE WA RE—27 74 % FE 6.13
U18%& FEMRRL 2|fEE F=E B LR &1 FE 6.01
U18%& FEMRRL 2% %% FEHR =3 FE 6.01
U18%& FiEMRRL AR BE RBRE =2 KBR 5.90
U18%& FiEMRRL AlRE = AR &1 aF 5.90
U18%& FEMRRL 6|=4& EhE £ =2 ES 5.87
U18%& FiEMRRL 7| R NEF =2 ES 5.86
U18%& FiEMRRL 8|IEH 27 =4l =2 A 5.85
U18%& FEMRRL 9|/kE XHhE PRATR &1 EH 5.79
U18%& FiEMRRL 10|t A E=51 =3 HE 5.78
U18%& FEMRRL 115Kk OF = =2 £ 5.77
U18%& FiEMRRL 11| <2 JRILFTH =3 ES 5.77
U18%& FEMRRL 13|2/R E mIRE =3 R% 5.76
U18%& FiEMRRL 14| % LT =2 Rii 5.74
U18%& FiEMRRL 4R PR [N =2 N 5.74
U18%& FiEMRRL 16|t £ EMR BER =1 5E 5.73
U18%& FEMRRL 16|MH BE BeR =2 R 5.73
U18%& FiEMRRL 18|MH = FREBERE =3 SE 5.70
U18%& FiEMRRL 18|ty EX BREALYY =1 Eal 5.70
U18%& FEMRRL 20|#kE BE NP =3 i} 5.65
U18%& FEMRRL 21|FH EMH B =1 £ 5.64
U18% FrEMREE 2(ER ¥ 2% =2 Al 5.61
U18%& FiEMRRL 22|#HE WA SApREBERE =2 dtimE 5.61
U18%& FEMRRL —& B FRA R =2 REA 5.71|@zFERA L
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BB RANK K4 FiiE X5 | #BEAR | XL fBE
U18% F=Exik 1EE k& B =3 K& 12.51
U18% F=Exik 2|%+ FAE KK =3 KBR 12.40
U18% F=Exik 3| EHZR HHY \F =2 KE 12.34
U18% F=Exik Alk FER Ak H =2 TE 12.27
U18% F=Exik S5|AO  EE EFRF BT =2 A5E 12.21
U18% F=Exik 6|t LHH BT =2 R 12.18
U18% F=Exik T\ReR faE BEEE =1 KBR 12.14
U18% F=Exik B|BA fEX 5P =2 " 12.10
U18% F=Exik 9|+E =M Ak H =1 TE 12.09
U18% F=Exik 10|1&F Hk J\I&E =1 BIE 11.98
U18% F=Exik 11|#&H # RIBAARKFE =3 RiG 11.97
U18% F=Exik 12(ubh Ez= wE =3 =R 11.94
U18% F=Exik 1[ET ®BE JeimER =2 vEE 11.93
U18% F=Exik 14| B RAH AT L =3 R 11.85
U18% F=Exik 14|EE =5 =iz =2 BB 11.85
U18% F=Exik 16| Tt &HZ BHisFE =2 B 11.80
U18% F=Exik 17|=H wE EIRAAEE =2 HE 11.79
U18% F=Exik 17\E#%E EF JebE =2 Fi=E 11.79
U18% F=Exik 19|lsH EA ARG =38 FE 11.78
U18% F=Exik 20|91 R BEREEE =2 B 11.77
U18&F=Ex ik 2L|ER =R BREYLOA 52 4 11.73
U18% F=Exik 22|&HE #RAE MILAE =3 TE 11.71
U18% F=Exik 22|/AH A KAR =2 HE 11.71
U18% F=Exik 24|FEH P £5 =2 KBR 11.69
U18% F=Exik 24|15 = 25 =2 2 E 11.69
U18% F=Exik 26| EH  FIF Ak =2 R 11.68
U18% F=Exik 27|luEH BEAEWE =38 B 11.65
U18% F=Exik 28|hA O Y ARz F =2 N 11.63
U18% F=Exik 29| EETE ESwNL] =2 EAH 11.62
U18% F=Exik 30|7FE ¥x IEAIIE]d =2 L 11.61
U18% F=Exik 31EFHF N 2:d ] =2 EF 11.59
U18% F=Exik 32(FL RF )] =0 L3 11.57
U18% F=Exik 33(HE =B bz F =2 RIG 11.56
U18% F=Exik 33|tk #AE BB =2 =5 11.56
U18% F=Exik 33| EK TER =2 B 11.56
U18% F=Exik 36|k BE REBSH =38 RED 11.55
U18%& F=Fx Bk 37|& Hik ST =2 =S 11.54
U18% F=Exik 38|=iE st REEFI =3 B 11.48
U18%& F=Fx Bk 39|F=R WY [ L5 B 52 i 11.46
U18% F=Exik A0 RIS OFE BT =2 RED 11.43
U18% F=Exik 40|18 Bk etk =2 Pk 11.43
U18% F=Exik 408 RED ERHES =2 N 11.43
U18% F=Exik 43|11k ¥R e =2 = 11.41
U18% F=Exik 43|feE EK FrHRZ - BR =3 HHAR 11.41
U18% F=Exik 43|17 BE R =1 B 11.41
U18%& F=Ekik 43|1liAs ER RE =3 R 11.41
U18%&F=Fx ik 47\\LEE HE WS =3 =F 11.40
U18% F=Exik AT /R SH0R, SHE =2 =4 11.40
U18% F=Exik AT|7EBE Oz fBJIEER =2 dbimE 11.40
U18%& F=Fx Bk 50(=#8 i P i} =1 R 11.38
U18% F=Exik 50|50 B HEAMER =2 EESI 11.38
U18% F=Exik 52| HEE ER RIEHAKRE =2 RIG 11.35
U18%& F=Fx Bk 53|[iE  WTHE 55 52 EEI| 11.34
U18%& F=Fx ik 53(ILE =RE N I #% 52 FESN| 11.34
U18% F=Exik 55|1EE B i =38 N 11.33
U18%& F=Fx ik 56 [ #E EFHE 52 i 11.32
U18%& F=Ekik 57|#&E & TEER =3 &5F 11.30
U18% F=Exik 57(FEE @E BARS =2 KBR 11.30
U18% F=Exik 57(FHF R BB =2 EESI 11.30
U18% F=Exik 57(hfE HE fAE =2 = 11.30
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BB RANK K4 FiiE X5 | #WEFR | EIGHDEK fBE
U18% FHIALIE (4.00kg) 1A 1oz SEMT =3 4 13.99
U18& FhaAL#%(4.00kg) 2|1k BIED KAEKRAE =38 KBR 13.71
U18& FhaAL#%(4.00kg) 3N EAR NGTE) =2 =& 13.28
U18& FhaAL#%(4.00kg) 4 =2 ENFE =38 ®e 13.24
U18%& FFa 115 (4.00kg) 5[ILA Hk TR =2 FH 12.86
U18% FHIALIE (4.00kg) 6|3l A INTE] 52 = 12.82
U18% FHIALIE (4.00kg) 7|BA H4 TtE =1 R 12.38
U184 FHIALIE (4.00kg) 8|FHILT 4 KR sl 52 FrE 12.38
U18& FhaAL#%(4.00kg) 9Bl FAHE BHR =2 B 12.33
U184 FHIALIE (4.00kg) 10[#E & HE 52 Ri% 12.31
U18% FHIALIE (4.00kg) 118 HBE HABRAE =1 KBR 12.24
U18& FhaAL#%(4.00kg) 12|Fix Bk Eld =2 @A 12.15
U18% FHIALIE (4.00kg) 13|75 E® EHEE =1 A 12.04
U18% FHIALIE (4.00kg) 14|2R =B FIRTIE 52 EES| 11.92
U18% FHIALIE (4.00kg) 15(iLA =T M P =3 I 11.87
U18%& FHIALIE (4.00kg) 16| =@ EH =3 o 11.83
U18& FhaAL#%(4.00kg) 17|85 i [EAvAER) =2 vEE 11.64
U18% FHIALIE (4.00kg) 18|1E =B e 52 KER 11.61
U18% FFa11%(4.00kg) g Fif ZHERFE =3 =R 1154[% v >l




g16[EU18,/#E53EIUI6ELFHIEART Y FU—Y X}

BB RANK K4 FiiE X5 | #WEFR | EIGHDEK fBE
U18%& F 45 (1.00kg) 1% =5 EAA =3 etk 46.62
U184 FFM#&#(1.00kg) 2|8 4 Bz Dt =3 KBR 44.35
U18%& 745 (1.00kg) 31 1EX BREE =2 BR 42.88
U18%& 745 (1.00kg) 4JBE BT BREE =2 =15 41.60
U18%& 745 (1.00kg) 5|KRE  #ER BEBKE =3 FESN 41.39
U18% F &4 (1.00kg) 6|58 x4 Ri5E =2 Rig 40.72
U18%& 745 (1.00kg) UES:E (7 IERR 2 F PR =2 K& 40.61
U184 FFI4%#%(1.00kg) slum mE [izE 3 =3 /N 38.35
U18%& F 45 (1.00kg) 9|fREE v AT L =3 R 38.23
U18% FF#&#%(1.00kg) 10(F=E =E HMORE— =3 EF 38.20
U18% FF#&#%(1.00kg) 11{@F = PN} =0 K5 38.11
U184 FFM#&#(1.00kg) 12|5M B HABRFS 52 =5 38.03
U184 FFI#%#%(1.00kg) 13(AE 3 =R &2 3 37.29
U184 FFM#&#(1.00kg) 14| R fEx Lk =3 =R 37.27
U18% FF#&#%(1.00kg) 155%H 0o BEXFA =2 B3 37.02
U18%& 745 (1.00kg) 16| KM FixEF BR =1 R 36.91
U184 FFI#%#%(1.00kg) 17|t 184 HABRFS &1 = 36.90
U18% F M4 (1.00kg) 18(7EiL BEE MWilidt 52 BiE 36.60
U18% FF#&#%(1.00kg) 19(/\AF HhHiE FRET =3 "/E 36.27
U184 FFM#&#(1.00kg) 20|8EE BT 2 &3 Al 36.21
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BB RANK K4 FiiE X5 | #WEFR | EIGHDEK fBE
U18% F/\ > ¥ —1%(4.00kg) 14 =& w~E =2 =R 52.40
U18%& F/ v < —4#(4.00kg) 2|E R HABR P =2 -F 50.23
U18%& F/ v < —4#(4.00kg) 3T B =K =3 RS 48.89
U18%&F/ v < —4#%(4.00kg) AR FAE =7 =2 FH 4755
U18L F/\ v = —1%(4.00kg) 5|+ e stk i =3 &) 47.28
U18% F/ v < —4#(4.00kg) 6| Ak HRFH =3 FIE 47.08
U18& F/\ v v —1%(4.00kg) HUES S ®E 52 AF L 46.53
U18%& F/ v < —4#2(4.00kg) 8|k M FHET 52 =& 46.05
U18L F /v = —1%(4.00kg) 9|mE FiE e =3 EA 45.94
U18& F/\ v = —1%(4.00kg) 102 B E's &2 B 45.78
U18%& F/ > < —#%(4.00kg) 11|HFA EEMH MBRFS 52 =5 45.37
U18%& F/ > < —#(4.00kg) R2|ER ©£x HASEE &3 5 44.70
U18L F/\ v = —1%(4.00kg) 13|=% »A EENE 52 G, 44.38
U18L F/\ v = —1%(4.00kg) 1408 BikEL ZEEARS &2 EA 44.25
U18%&F/ v < —4#%(4.00kg) 15|H% ©E HE =2 et 43.85
U18%4F/ > v —#%(4.00kg) 16| B E=7h wE =38 & 43.70
U18%& F/ > ¥ —4#%(4.00kg) 17|F4& Bix R =2 KBR 43.64
U18%& F/ > ¥ —#(4.00kg) 18(384 B HE B2 I & 43.38
U18%& F /N> < —#%(4.00kg) 19|p1HE EEE HE &2 7 & 43.22
U18%& F /N> < —#(4.00kg) 20| KiE RE 52 5% 43.19
U18%& F/\ v < —4#2(4.00kg) 21|1H #ss Rilgxz =3 R 43.04
U18L F/\ v v —1%(4.00kg) 2| %E TR =5 =3 = 42.98
U18%&F/ > v —#(4.00kg) 23|18% iR REREE L =2 R 42.96
U18L F/\ v = —1%(4.00kg) 24| H#H0O MF P =3 Ri% 42.77
U18%4F/ > v —#%(4.00kg) 25|@x B®R 1% =2 KBR 42.65
U18& F/\ v v —1%(4.00kg) 26|M e 1B%F 52 EA 42.59
U18%& F/ v < —4#(4.00kg) 27|FH%A B BEE =3 SH 42.44
U18%4F/ > v —#%(4.00kg) 28|1kBE AE ElERE =2 K& 42.36
U18%& F/ > v —#(4.00kg) 29| k& & FEHRE =2 3 42.10
U18%& F/ v < —4#2(4.00kg) 30[Fm  E BB =3 e 42.09
U18% F/\ > v —1%(4.00kg) 31|EfE B BIsR = E A =3 5 41.94
U18% F /N> v —1%(4.00kg) 2(HAR VAt BEfAR =2 RBR 4157
U18& F /N>~ —#%(4.00kg) BIEA ER SIREALE =2 FiE 41.40
U18% F/\ > v —1%(4.00kg) 3418 ER =47 =2 FH 41.28
U18% F/\ > v —1%(4.00kg) BImA <D FOSRER =2 AL 41.24
U18% F/\ > ¥ —#%(4.00kg) 36[EK A LB =2 I & 40.68
U18%& F/ >~ —4%(4.00kg) 37| T &b s =2 EESN 40.49
U18%F/ > = —#%(4.00kg) 38|RIR MABEZE FEHhR =2 B 40.25
U18%& F/ > ¥ —#%(4.00kg) 39|82 MhE = =2 LE 40.02




516[EU18,/#E53[EUI6BELEBREIFAET Y Y —U R}

BB RANK K4 FiiE X5 | #WEFR | EIGHDEK fBE
U18%F* Y #%(600g 1999~) 1|84 #= FHE =) I & 53.86
U187 7+ W #(600g 1999~) 2|1 X LHERE =3 EH 51.47
U18%F* Y #%(600g 1999~) 3BT M MBRFS 52 = 49.59
U18%F Y #%(600g 1999~) 4lEm & BHARAHE 52 KER 49.27
U18%& ¥+ ¥ #(600g 1999~) 5|8 =7 HARAHE 52 KER 48.04
U187 7+ W #(600g 1999~) 6|4 B =851 =2 = 47.30
U18%F* Y #%(600g 1999~) 71EE FIT HE e 52 AL 46.42
U18%F Y #%(600g 1999~) 8|al ®E M 52 3 45.94
U18%F* Y #%(600g 1999~) 9IHE A= HE 52 Ri% 45.87
U18%F* ) #%(600g 1999~) 10|15 BB BAEE 52 2 4552
U18%& ¥+ ¥ #(600g 1999~) 11|hHE &= HARAHE =3 KER 45.40
U18%F* Y #%(600g 1999~) 12| K% A& T4 &2 = 44.50
U18& F+° ) #(600g 1999~) 132 =@ WAER =3 RE 44.21
U18%F* Y #%(600g 1999~) 14|88 (-x SihmAE 52 BiE 43.83
U18% 7+ 1) #(600g 1999~) 15|51 BAE IEER L F BT =2 K& 43.78
U18%F* Y #%(600g 1999~) 16(FL U5 I 52 o 43.63
U187 7+ ) #(600g 1999~) 17|/1HE  ZksE SEARAER =3 & 43.40
U187 7+ W #(600g 1999~) 18|RF HHE AR =3 L0 43.03
U18%F* Y #(600g 1999~) 19|#A  ARO sem 52 =24 42.94
U18%F* Y #%(600g 1999~) 20|%HAK FL52 TFE 52 A 42.75
U18%F* Y #(600g 1999~) 21|8@ T HE &2 I &2 42.74
U18%F* Y #%(600g 1999~) 2| FH =k BISE R =1 Ei) 42.73
U18%F* Y #%(600g 1999~) 23|88k Amk BLETRZE =1 EH 41.86
U18%& ¥+ ¥ #(600g 1999~) 24| 3EFE B BME =1 G, 41.76
U18%F* ) #%(600g 1999~) 25| A & RigBAKRZ =1 Ri% 41.54
U18%F* Y #%(600g 1999~) 26|pKME W PRAHR =1 EA 41.17
U18%F* Y #%(600g 1999~) 27|BR bW FEhR 52 4 41.14




5816[EU18,/5E53EIU16RE LR Y —-Y R b

BB RANK K4 FiiE X5 | #WEFR | EIGHDEK fBE
U165 F100m 11KiL fOBE EZA 3 FESN| 10.69
U165F100m 2|5m  RE MJAC — JtimE 10.72
U165 F100m 3tE Het REWE 3 2 10.74
U165F100m 4|lZ=)ll wH— 3 KER 10.78
U165 F100m 5|&% =t HE =1 BB 10.79
U165 F100m 6| AP % LREF 3 Al 10.81
U165F100m 7|E@E & SR 3 JtimE 10.84
U165 F100m 7|EE K BA5H 3 A 10.84
U165F100m UGBS A& 3 e 10.84
U165F100m 10|/hEE & =y &3 A 10.88
U165 F100m 11| &HE LODESTAR AC — bl 10.89
U16EF100m 12|R3 HARER W =1 A 10.90
U165F100m 13|l 2] LERE &3 /N 10.91
U165F100m 13|#EIR st 2@ &3 BE 10.91
U16%F100m 15(@H SRtk LR 3 G, 10.93
U165 F100m 16|58 &K EiGil &3 2 10.95
U165F100m 16|1kE EB= GEMSTAR —& R 10.95
U165F100m 18|22 &HN KE= &3 E354 10.97
U165F100m 19|l L &z BF &3 3 10.98
U165 F100m 19|#F  ZKEB =t $3 KBR 10.98
U165 F100m 19;EM 2 st i =1 I 10.98
U165%F100m 192+ R IREEE $3 3] 10.98
U165 F100m 23[1lhA KA pe3iie) $3 K& 10.99
U165F100m 24|t &K BEH &3 ES 11.00
U165 F100m 25| % KR i &3 o 11.01
U165 F100m 26|1FEE B EAREEH &3 5 11.02
U165F100m 26\ 1LA BB B ER &3 o 11.02
U165F100m 26/ Z=H aE &3 BER 11.02
U165 F100m 26|1E8k X LIRS $3 N 11.02
U165F100m 26|ch)I % ABHTFC —& R 11.02
U165 F100m 3115BK ®WE 8 $3 = 11.03
U165%F100m 31|AE &EA =Ltk WV $3 KBR 11.03
U165 F100m 31|k 2 SEAE &3 BF 11.03
U165 F100m 34|#EKx BE— Bl $3 fE 1Ly 11.04
U165 F100m 4R = 1A A &3 o 11.04
U165F100m 36| FH EAH wERE &3 KER 11.05
U165 F100m 37\|&@  HEF RE®EI $3 3] 11.07
U165F100m 37|EH R =i &3 AFL 11.07
U165 F100m 37|dl RiE R§B &3 BE 11.07
U165 F100m 4|EER BEA IS =1 T 11.08(@11.15
U16%F100m 41| BEKX ZyEL 3 40 11.08|@11.23
U16%F100m 42|68 184 ELEH #3 BB 11.08|@11.27
U16%F100m 43|5FE  /INEEER El 2 B1R 11.09
U16%F100m 43|4KE 123 Y #3 R 11.09
U165 7100m 45|=18 thiE Gl 3 ABR 11.10
U165 F100m 458 BE N TN 3 N 11.10
U16%F100m 45|RH BiEE EZ &2 BRE 11.10
U165 F100m 45|10 BZE =& 3 RS 11.10




g16[EU18,/#E53EIUI6ELFHIEART Y FU—Y X}

&R RANK K4 B X5 | MBEFR | EETE HE
Ul6BFE=BL 1|20 xR iz e $3 S 1.98
Ul6BFE=BL 21 =R JtRAe} &1 dtimE 1.95
Ul6BFEBBL 2P KF HE $3 =g 1.95
Ul6BFEBBL Al REE BgH $3 EH 1.94
Ul6BFE=BL 5|85 5t R &1 1R 1.93
Ul6BFEBBL 5|5 & =M = $3 &I 1.93
Ul6BFEBBL 7|77 90k KAV RARAMAR &1 KBR 1.92
Ul6BFEBBL 8|E% =F 27 $3 #E 1.91
Ul6BFE=BL 8|# L EIK ELE $3 i1} 1.91
Ul6BFEBBL 10|¢H F® il $3 ] 1.90
Ul6BFEBBL 10|5% 15 il =1 ) 1.90
Ul6BFE=BL 10|17 BE LR $3 ] 1.90
Ul6BFE=BL 10|l X HMABRE $3 ) 1.90
Ul6BFE=BL 10|85k BN I $3 KBR 1.90
Ul6BFEBBL 10|+ EE R=EE $3 KBR 1.90
Ul6BFE=BL 16|y FT14v T7— EMZ=AR 3 Gl 1.88
Ul6BFE=BL 16|%E ExR $3 ) 1.88
Ul6BFEBBL 16| ARAKR BN E5 $3 R 1.88
Ul6BFE=BL 16|FE & EES $3 R% 1.88
Ul6BFE=BL 16:EH fin AHH $3 KBR 1.88
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&R RANK K4 B X5 | MBEFR | EETE HE
Ul6BFHEEBL l|#a &t PRATR &1 EH 4.61
Ul6BFHEEBL 2|7k BIE I $3 S 451
Ul6BFHEEBL 3|k KE HEFHE &1 ES 4.50
Ul6BFHEEBL [ L£% $3 £ 4.40
Ul6BFHEEBL AlKPE B BESF $3 &I 4.40
Ul6BFHEEBL 6|18 BEE = $3 &I 4.35
Ul6BFHEEBL 6| L% W RER $3 = 4.35
Ul6BFHEEBL 8| T E&% HEAR $3 B1R 4.30
Ul6BFHEEBL 9IHL EH P/ $3 mE 4.25
Ul6BFHEEBL 10| AKX K5 P/ $3 EE 4.21
Ul6BFHEEBL 11|k EX AT 3 Gl 4.20
Ul6BFHEEBL 11|£H FEX EREILS =1 N 4.20
Ul6BFHEEBL 13|71l =8 EHE = FE 4.16
Ul6BFHEEBL 14|10KR =& L% $3 £ 4.11
Ul6BFHEEBL 154K I BER T /NEE $3 aF 4.10
Ul6BFHEEBL 15|7%HE A % $3 alll 4.10
Ul6BFHEEBL 15| K% ImiE NI k= 3 ik 4.10
Ul6BFHEEBL 15|86H &S = $3 il 4.10
Ul6BFEEBL 15|82R BN R $3 dtimE 4.10
Ul6BFHEEBL 15l BE el =1 dtimE 4.10
Ul6BFHEEBL 15)%R BEX thih $3 RS 4.10
U165 F =Bk WA HE BEIH 3 BE 4.20| @ FEE A L




#F16[EU18,/FE53MEUI6ELEHEFASETFY—-U X}

&8 RANK K4 FEE X4 EEFR | BIKEH fwE
U168 FEMREL 1|1%0H| X FREAZ =1 HE 7.24
U168 FEMREL 21158 24 A RERR =1 R 7.06
U168 FEMREL 3[4k 2= SIRITE t3 Eig 7.02
U168 FEMREL 4|chg  HEE ISy NG) = ESNN 6.97
U168 FEMREL 5|KF ME KRG E $3 N 6.96
U168 FEMREL 6ixA& 1&KE HE F3 AL 6.94
U168 FEMREL T|Har O HERAIL $3 =R 6.91
U168 FEMREL 8|kmE K EMRAL F3 JuiEE 6.90
U168 FEMREL 9l &N B HRIRZ t3 R 6.89
U168 FEMREL 10(78)11  FRFD fRiE t3 JuiEE 6.87
U168 FEMREL 11|58 B K4 & &3 HE 6.79
U168 FEMREL 12| =4/ K [ICES F13 WA 6.76
U168 FEMREL 12|1E8E  Kith RE— F13 2 E 6.76
U168 FEMREL 14|F) % Fiill=22 &3 BfE 6.74
U168 FEMREL 14|85l &R 7/ E t3 AR 6.74
U168 FEMREL 16|78 K RIGKHE t3 Ri& 6.73
U168 FEMREBL 171A&A —¥& Al N F13 Big 6.72
U168 FEMREL 18|l 1% R &3 5 E 6.70
U168 FEMREL 18|mnpE 32 ZEE &3 F 6.70
U168 FEMREL 20| 8# FA —NE &3 REA 6.69
U168 FEMREL 20|10 #z= FRAIEHT X Fi2 BHE 6.69
U168 FEMREBL 20|1F)11 B LI &3 24 6.69
U168 FEMREL 23|#EAE K BEAMNZ F13 R 6.67
U168 FEMREL 23| RHF  HEKEB =i t3 Big 6.67
U168 FEMREL 25|BERE  KH FREAZ =1 HE 6.65
U168 FEMREL 26| HiR REHAH SN F13 FE 6.64
U168 FEMREL 27|k AKX AEELS ST —f% K 6.63
U168 FEMREL 27(WLhE &t =L &3 B50 6.63
U168 FEMREL 27| &EH &8 EMZ=HR &3 B 6.63
U168 FEMREL 30|EE %A RBESH t3 N=T 6.62
U168 FERE 31|l B’RF 2 HAC — & =403 6.61




5816[EU18,/5E53EIU16RE LR Y —-Y R b

BB RANK K4 FiiE X5 | #WEFR | EIGHDEK fBE
U165 FHa 1% (5.000kg) 1|af K& =yl $3 1= 15.42
U165 FRa % (5.000kg) 2| FIKER foRER =38 L 15.27
U165 FHaA#%(5.000kg) 3|[7vrey FrRYay tE =1 R 15.17
U165 FFa1#%(5.000kg) 4|8h == ERFE =1 e 14.79
U165 FFa1#%(5.000kg) 5|%% EX HEE $3 R 14.46
U165 FFa1#%(5.000kg) 6iER I HEE 3 BE 14.29
U165 FFaA11%(5.000kg) 7|HLE R L8 #3 L 14.21
U165 FRa % (5.000kg) TIWTF 158 KBRS $3 KBR 14.21
U165 FFa 1% (5.000kg) 9|3k A EBEzO— —& e 14.11
U165 FHaA#% (5.000kg) 10(fE& Bk Jerz 3 =5 14.10
U165 FHaA#% (5.000kg) 11|hR  1&—ER BEATER L 3 ills 14.00
U165 FRa % (5.000kg) 11{85 2K =R $3 ®e 14.00
U165 Fat1#%(5.000kg) 13|f%E %) Dh B A $3 EH 13.97
U165 FRa % (5.000kg) 14| E&F RIZBA SpE R $3 vEE 13.95
U165 FFa1#%(5.000kg) 15(2)11 HHE th2 L 13.82
U165 FHaA#% (5.000kg) 16|FH Bk ARG =1 5 13.74
U165 FFa1#%(5.000kg) 17|/ B HESA 3 o 13.68
U165 FFa1#%(5.000kg) 18|5R R0 HEAE 3 B1R 13.67
U165 FFaA1#%(5.000kg) 19|1kBE Ezn FIRE 3 EH 13.63
U165 FRa % (5.000kg) 20EFH HE =R $3 ®BE 13.57
U165 FRa % (5.000kg) 20|78k X BEFE— $3 K& 13.57
U165 FFaL#%(5.000kg) 2|Ee =% RFERA 3 R 13.53
U165 FRa % (5.000kg) 23|FE  BEX RIEFE $3 =R 13.48
U165 FFaA1#%(5.000kg) 24|3 ER [ick=i==-71 &3 o 13.45
U165 FFaA1%(5.000kg) 24| kKiE BR E&zO— — JtimE 13.45
U165 FFa1#%(5.000kg) 26|HIH &S FHE 3 =5 13.40
U165 FFa1#%(5.000kg) 27\l && FRTWL $3 Ei] 13.32
U165 FFaAL#%(5.000kg) 28|/NE F BGEWS HE 3 FESN| 13.22
U165 FRa % (5.000kg) 28|fFEE K EFH 2 B 13.22
U165 FFaA1#%(5.000kg) 30|fM% 548 GE 3 BER 13.21
U16% FHaA#%(5.000kg) 31|BE AR EHREEH #3 = 13.18
U165 FFa1#%(5.000kg) 32| Bt g FHEH S #3 o 13.17
U165 FFa1#%(5.000kg) 33|tEE =K L &2 A0 13.15
U16% FHaA#%(5.000kg) ZANID N =R #3 BRE 13.14
U165 FFa1#%(5.000kg) 35|FE BEH FIF 3 & 13.13
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BB RANK K% il X5 | MEFR | EELHR &%
U16ZF100m 1|HcE B EH 3 B 11.89
U16%%100m 20E& o&Y EREE $3 =5 12.07
U16ZF100m 3|EK OFEY == Fl FEIN| 12.10
U16ZF100m 3|dE Ok B4 F3 =) 12.10
U16%F100m Sl/R E =m F3 &£ 12.12
U16ZF100m 6|71 EK FFE R =0 EH 12.15
U16ZF100m 61l DE BEHER $3 b 12.15
U16%F100m 6|EE= UART First Step — % i 12.15
U16%F100m 9|7 zm UH FERZERE =0 5 & 12.16
U16ZF100m 10|1=5 =% &L F1 N 12.18
U16%%100m 11|[KET BT WHEFHF $3 PN 12.19
U16ZF100m 12|18 & BEESRT $3 R 12.20
U16%F100m 12|74 V7 LR vy —VEE |PREELT $3 &R 12.20
U16ZF100m 14150 =< »n K'Y SH — % BHE 12.23
U16ZF100m 15|BIAT AW Kt =38 iR 12.25
U16ZF100m 16|H+E 2% SSAC — % S5E 12.26
U16ZF100m 16|/ BEX ERELEE $3 "_E 12.26
U16%F100m 16|7% %2 YaATREVR —f& & 12.26
U16ZF100m 19(17H ®5/7E REFHED F3 R 12.27
U16ZF100m 20| KT #E BBAAF $3 ) 12.28
U16%%100m 21|HE w5 7% BRI AR 2 B2 12.29
U16ZF100m 225K HEH RN $3 A 12.30
U16ZF100m 23=h HA HAaE+ F2 5 E 12.32
U16ZF100m 23|E% 7T 1% $3 FEIN 12.32
U16ZF100m 25| = J\IEET R~ — IR 12.34
U16ZF100m 25| #HH MRY-M77 — B3 12.34
U16ZF100m 27\ EE Efh= $3 KBR 12.35
U16ZF100m 27;I0  EH PN i $2 FEIN 12.35
U16ZF100m 27|@r A AfBEL $2 BB 12.35
U16%%100m 0[ER &P FEEF T $3 12l 12.38
U16ZF100m 31|F%F AHE BE =1 Iz & 12.40
U16%F100m R EN LEBEE = IN=T 12.40
U16%F100m 31|LEF FREE AN 1w $2 K& 12.40
U16ZF100m 31|kB A8 = =1 =H 12.40
U16%F100m A BE REE =+ 3 AR 12.50| @R HFE % L




g16[EU18,/#E53EIUI6ELFHIEART Y FU—Y X}

&R RANK K4 B X5 | MBEFR | EETE HE
Ulex FEmDE A=K+ LAFzN v $3 ES 1.68
UleZFE=BL 2(# L R AR $3 £ 1.66
UleZFE=BL 3 =& BER &1 SE 1.65
Ulex FEmDE AlSEER & I h R $3 R 1.64
UleZFERBL 4| BE BeR &1 B 1.64
UleZFE=BL At A $3 KBR 1.64
UleZFERBL G SEE &1 =5 1.64
UleZFERBL 8|y #& gh= $3 KBR 1.63
UleZFERBL 8|teH %7 HERIEB $2 i1l 1.63
UleZFE=BL 10|=% #Fi%k ML $3 ] 1.62
UleZFERBL 11|EH & HERLE T 3 (eI 1.61
UleZFERBL 11|5F8] f&X ik =1 Eal 1.61
UleZFE=BL 11|7#) 5% Fele = R 1.61
UleZFERBL 11{2H ©O0E T $3 FE 1.61
UleZFERBL 15|s &% rA $3 A 1.60
UleZFERBL 15|3F)Il #Jh e $3 ) 1.60
UleZFE=BL 15| K8 AR MR E $3 Gl 1.60
Ulex FEmDE 15|33k EE TSM —f% A 1.60
UleZFE=BL 15|k B REFILFE $3 R% 1.60
UleZFERBL 15|#fT % EOE $3 £ 1.60
UleZFE=BL 15| RALR FIb FEHIR $2 ) 1.60
UleZFE=BL 15|24 KA L $3 R 1.60
UleZFE=BL 15|85 B=F Rize AC — R 1.60
UleZFE=BL 15|%#k =7 BERE $3 aF 1.60
UleZFE=BL 15|tkgk M4 ¥ B 2 E 1.60
Ulex FEmDE 15[/t i A+ $3 == 1.60
UleZFE=BL 15|Ef FIX KEE $3 S 1.60
Ul6Zk FiEm Bk REE NS —HERPE #3 HER 1.60| @& L
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&R RANK K4 B X5 | MBEFR | EETE HE
U16%& FEMRBL 1Hs =5 %5 $3 =5 6.00
U16% FEMRBL 1|pE B BuxAHT $3 S 6.00
U16%& FEMRBL 3|5FA ERB NEZ $3 @ 5.83
U16%& FEMRBL ARE =P ElG $3 AL 5.69
U16%Z FEMRBL 5| BBIRF NEF &1 ES 5.67
U16%Z FEMRBL 6|2A W =H $3 FE 5.64
U16%& FEMRBL 7|3k% @t NTFH $3 Eine) 5.62
U16%& FEMRBL 8|tRE &R IS &1 FE 5.61
U16%& FEMRBL 9|FEE M= RONETE $3 SE 5.60
U162 F7EMRBL AR X RF= $12 WA 5.60|F v > &L
U16%& FEMRBL 10|22 oHY KK =1 KBR 5.55
U16%& FEMRBL 11|#HF & G $3 ] 5.54
U16% FEMRBL 12|78 JE=x ER—f $3 51 5.51
U16%Z FEMRBL 12|Rke &R EN RN $2 N 5.51
U16%& FEMRBL 14|tk MR EXFE 2 ] 5.50
U16%Z FEMRBL 15|&F =R REFHKX =1 R% 5.48
U16%& FEMRBL 16|%% M= RIBAME 3 Rii 5.47
U16%& FEMRBL 17|F% Bk AEER $3 R 5.45
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BB RANK K4 FiiE X5 | #WEFR | EIGHDEK fBE
U16Z& FRaAL#%(2.721kg) 1| == 81K #3 KER 15.49
U16Z& FRaAL%(2.721kg) 21 v A HEE 3 BE 14.68
Ul6Z FRafuik(2.721kg) 3|k ®E Ry EE $3 KBR 14.28
U16Z& FRaAL#%(2.721kg) AERN B oyl 3 e 14.03
U16Z& FRafL#(2.721kg) 5|MF  EXL REFE 3 KER 14.00
Ul6% FRatik(2.721kg) 6|fEE & 2% $3 = 13.98
U16Z& FRaAL#%(2.721kg) TN T HE th2 = 13.96
Ul6Z FRaui&(2.721kg) 8|/NEE AR FRBHS £ $3 BB 13.77
Ul6Z FRaui&(2.721kg) 9|RAE FHE FEBEEH $3 R 13.68
U16Z& FRafL(2.721kg) 10|+ & NEFZ th2 3 13.53
U16Z& FRafL#%(2.721kg) 1l|fEeAR &< BEHR 3 BE 13.38
U16% FRIAE(2.721kg) 12|FE HE LR Z DT 3 KER 13.29
Ul6Z FRafui&(2.721kg) 13| #¥ PNGEA I $3 KBR 13.28
U16% FRIAE(2.721kg) 14\58H =5 BERBA &3 G, 13.23
U16Z& FRaAL#%(2.721kg) 15(La Ew 2Tk #3 KER 13.18
U16Z& FRaALi(2.721kg) 16|55 HHT 7 th2 ES 13.16
U16% FHEIAE(2.721kg) 17K H#HER =) 3 3 13.14
U16Z& FRaAL#%(2.721kg) 18|#A W3k BEpR 3 BE 13.05
U16Z& FRaAL#%(2.721kg) 19|1E@ &EX KEF &2 = 12.95
U16Z& FRaAL%(2.721kg) 20|KTF HhH TIFE =1 EA 12.92
U16Z& FRaAL#%(2.721kg) 21BM FIT Zin=) 3 2 12.86
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e o ®4 i m5 |mume %
1 |m8 FHER 3 Joma
MR 7R 73 5 =
3 |k FE 73 E =
« |&E_mE =i &1 2 W
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s 7B _am TR &1L A
10 |PE & FE] 73 ® R
1 |RE B% I 73 B =
2 _[ER B e 73 T =
5|1 & PREET 73 ® =
u 5% & BT 73 el
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20 |8 w0 AT 73 "
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U165F150m 24 AR RE BT =1 I B
25 | B E 73 u =
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27 [mm mE e 72 * B
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30_|BE_BE LI 73 L
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32 [ER R Rl 73 5 ®
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&8 i” K4 R x5 | mame oz
WS NASS T B
2 e mi e = =
3 B BE BEE 3 z =
7 7% = R 3 = W
WD WE 3 ® @
6 |am e 8 2 T
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